Solving One Step Equations
Unit 2: Equations and Inequalities

Solve each equation:
1.v—19=-38 2.—11=m+6
i -6 -C
3.-29=n-12 4. k+15=1
vix A -5 s
—)7—;’\\ kK = ~Jyi
S B L
5.12+n=20 6.—15=p—10
:I,l =2 10 +1¢
h= ¥l ‘
Fs -rl
7.-12=x+5 8.x—6=4
s s e e
"/7 B Y‘ X = /0
9.x+19=0 10.n—11=5
“1h P AL




11.F4 =217 12.—104 = 13r
17 — .
- I3 15
0% =X —
| FF=r
1BAS =2, 14.-35=7r
5= 7 7
90 = x =F=rl
15.0 = 16p 16. —12n = 108
It A A =47
i -~ -9l
0 = /) E:,,—'
17.196 = —14x 18_E3 ==1]-5
—/l/ -/1/ -
— 65 = x|
_Jy = \
19. 13:5J3 20. 12v = —192
E . / /2




